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IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qs rer@ M cueng ellarmggmer

Read the following instructions carefully before beginning to answer the questions.
eflemaa@né@ eilenweaflss Qemmi@Gh ey SDESaTL 46T HeneT HEUGTLONS Lilg&&a L.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
@bs odle|nssalan ouar urdlafle auriseamsaaia, @GpasCanu GComeuliLiger olLem
uredlenflen auiri&Hengea(@hid <L hiGLb.

This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.

@ns larstsrglfear samsrailurarilear wiguwd GCumeusnE wenarm HpsasmLrs).
sanarafuurer dlemsasrglideamar HnlushHE iaiwd daisseaar elammsQsn@lbamar Snbg
ellenL_weflss Qarmgomd.

This question booklet contains 80 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 minutes after which no request will be entertained.

@eaclemmggsrer 80 Qarar@d euams ellamisemar Qarar_g. amamiugriser oo weafllés
Qgrfu@d (e, clamgsrafld eroer elamsseEpn @Lb GupmeTaraaur aaumgsyb, gCseib fo
usshise / eflammésar FfLluLmod efHulBaeraralr erarumsL D FAurTsgs Camerareayib.
demmggrafley gCoand Gen @mUubear elemtggrenarts Qump War LS HOILASEREGST @D
sewrareantureriiib Qsflellés Couamrpb. <gnE Wng Csfatlsalu@n Carfldmaser agb gnnis
Q@@remariiuLomLTg).

Answers all questions. All questions carry equal marks.
e clanmasens@n o weallés Ceuamm@b. amardg elammss@sd gworear wHUGEL@TST
Glemer_emeu.
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Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet.

AeiranmiiugTrier uSQaiameen Geucllamssrefsn G g LssESD ghlaar ealsaILL G
@586 erps Cauanm(Bibd. eflammggrafids Gaug TapgLD 6T(PSS al 5.

The sheet before the last page of the question booklet shall be used for any rough work.
emsgreflen a8 LEESANEG Wer usssHe rough work el uriée 2 LCWrE5515 Qererera,b.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) gaGaurm edamalpEn (A), B), (C), (D) ear preg fenLsear QarHEsuuL(heTerg).
AeramuusTyT Seupdléd qCseb e@ flurar elmLmus Caieay Galw Cauarhb. gaTnss
Gupul L sfurer eleLsear g edamalne QnUusTs smamme, eupdled eraeilmL Blas
sflwurens) eran &medHiraGanT, seueilenew Flpdll ( smt Geusr(H .

(b)  eraseurdmidan, g edamalne @Cr e elaLmws srer CairbdsHises CoauaHib.

© g© Gardpe papse Gopul alLhsdd o waliEsiulyBbsTd deioL
seuprensns swmsliLL (), SjeuedammeihE LG eUPmISILL DT LTE.

(d) OMR eflenLs srefler @RissuLLL sflurar el semer Curpsg, Gorss wHELEmTsT
auprsLILEDL (@@ damelnE e el L sHd (GHUELL) flpdliL diamL GG wuELET
aLpkIG sarTadld ar(HSgs Gareraruu@in).

Do not mark the answers in the Question Booklet.
elanrgsrafle eflen_semerd GO & saLTg.

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet.

Aememiugmy, elenmsgrefan ehs @@ Usss@UD, BssCar sbwg SfsaCaur sming. Csrey
peoL Qumid Gurg), ellemmssrenet Caiay sl smzell B QaualiGu r@bs Geow Sig@indl darwrg.
- Gairey iy hs WenarGr eflenmsrener er(HHgF Qede SigiodssinBeur.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide.

Cuopsar. ofaerseie gCsgub WpLLECLLrams Gsiauraamnun THEED e ear /
BLoUlqE&ESS 2 ererrs Cofl(HLb.

In case of doubt, English version is the final.
eamésaia sbCasBmUden g nda aigelld Aar@ssuul@arer eilamssGar G duimeig.
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“Amatol” — Combination compounds?

w Ammonium Nitrate with TNT
(B) Ammonium Nitrate with Nitro Cellulose
(C) Ammonium Nitrate with Nitrate
(D) Ammonium Nitrate Only

“Amatol” — e sl HLUGCILmRL&ET?

Q) <Coreflwb eplCri + g..6Te.Ig..

B) Curaflwbd eslGri + eplCrr GlFwa)Caman
(C)  Cuwraflwb epl Gyl + enpl G

(D) =Curaflwb eplCri wl (Hib

Following “Metal” also be stored under inert gases? -
(A) Potassium _ w Sodium
(C) Zinc (D) Manganese

Epssan 2 Corsmaseaie ergl hs aurssefled Callgs eneuss LB Eng)?
(A)  Qurirélwub (B) Cemguwibd
C) sszBTSD (D) orisates

Following Metal/s are/ were readily ignite when moist added?
(A) Sodium

(B) Potassium

(C) Rubidium

J’) All of these

Spaarn 2 Garsid [ 2 Caorsrsate FrLLSLD a@iorae erflflanse 2 Lheaig?
A) Cerguwid

B) QurliLrfwbd

C) Y I

(D) Qe HmengHID
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4. Following celluloid is ignited, it is difficult to stop the ensuing decomposition, unless
it submerged in water/ cooling is continued.

(A) Cellulose acetate w) Cellulose Nitrate
(C) Ethyl Cellulose (D) Casein

Epsaa.  Gadgiomi() mrﬂ@mmuﬁ]é} Bfld  eppseilLredlLrd odag CsTLibg
Gaflelgaraiiy e Qedgiami® Fi@maams HNSsIag! &geb

A) QadguGamen &G (B) QeogyCamren enpl G
(C) ersdlav QFavaCGamen (D) srélen
5. Class — A petroleum product are classified according to flash point,
Below 23° ¢ (B) Between 23°c to 33°c

(C) Above 33°% (D) None of these

Spsawr  Semev-g  QuULCprellud ey Germev  umllanger  SiigLiueLudd

auamsILUHSSLLHE DS
A) 23°c-&p (B) 23° to 33°c -&@5b @enL_ude
(C) 33°-&@ Guwed (D) @aneu grgdlcvanad
6. Which one the following material are almost “smokeless coal”?
(A) Bituminous (B) Lagnite
w Anthracite (D) Sub Bituminous
Spsa_eupile Hlassi eimssaie erg Yamsgsamamowpp Hlessil crariu@Géng?
A) G blaren (B) Ssemen
(C) <y pgrensl D) &0l Peren
T If ammonia gas inhaled by accidently, the best safe antidote for?
(A) - Lemon juice (B) Edible vinegar
¢) Both (A) and (B) (D) None
erdliumyr Bleneufed bGureaflur eur| seurdlés CrilLre sflwrer wmbE) creneu?
Q) craydl&ena Frm) B) 2 Qardretésmigw elafls
© (A wpmb (B) @rerr®id D) @ansu ggibildvane
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8. Unit of measurement for ‘Heat flow rate’ is?
w) Joule B) . Watt
(C) Centigrade (D) Newton

“Olautin gl L aNflE1D” 6@ et ?

(A)  moa (B) eurl
(C) Qaang SCrQH (D)  Huyran
3. Choose the correct statement for carbon-monoxide

(A) None poisonous, non flammable, flameless burning
j) Very poisonous, flammable, burning with a blue flame
(C) Non poisonous, nonflammable, burning with a blue flame

(D) Very poisonous, flammable, flameless burning

SLpsem_eupmeT 6Tg) &iue-Gorearmsman() updlw sflurer sapm
(A)  Meggsemenbwnng), SMILDDISE, SeuTaawWDHD 6TiflH0
(B) eNasgsenaniowenl g, erfwgsnigwg), Heo Blm Heureneow|_e erflso
: Ch ILjent gl LIS &
(O) dNeaggsamenownmg), SLunnrss), Ba Hln seureneu | e eriflgd
(D) &legggeneowianL g, erflusamig g, Heurenawnm erflge
2 &l gL &

10. U.V.C.E - abbreviate _
w Un confined Vapor Cloud Explosion
(B) Un confined Vapor cloud Expansion
(C) Under Vapor Chemical Explosion
(D) Under Vapor Chemical Expansion

U.V.C.E - erenugen el flaumssid

(A) e semenLien(h) Gauliui Qlem(h) ergevLGenmagen
B) e semenLic(h Geuliuit &Glen(h) erdevCLETapEN
O) e Cauiur Qalldse eraevCermagpen

D)  weni Cauliur Qadlése ersanGuenage
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®
11.  “LOX” (Liquefied Oxygen System) found on which type of Air craft mainly used

W Military Air Craft (B) Naval Air Craft
(C) Civil Air Craft (D) All of these
. “LOX” (Liquefied Oxygen System) er55 6flgloman aflioranggler uwau@ssLuGHSng)
(A)  @uramieu eflworaid B) sLpuemL brerid
(C) uvwenflaer eflwmred D) Qee SenansHayid
12. “Hanger” — protection is lying in the area of -
(A) Air Craft landing area w Air Craft maintenance area
(C) Air craft tax lying area (D) All of these

“Hanger” — urgisriy el Spsa@TLcupmier eréld SieLobgiaTers)
(A) eflwreand R sebd (B) sflwrend ugToflsEnd @LLb
(C)  eflwrer @niiEsard D) Qe SimansgIb

13.. APU- abbreviéte the Aircraft name

M Auxiliary Power Unit (B) Addition Production Unit
(C) - Auxiliary Production Unit (D) Additional Power Unit
APU — cremuger e feurésid
(A)  sienenr e DG B) smpsod 2pusd ¥fley
(C) siewanr 2 HuSSH GDfley (D) sm@se Wer @

14. “Gooseneck” — Ladder part 1s
(A) Ladder pivot
(B) ‘L’ shape fitting ladder boom
‘U’ shaped fitting
(D) Special type of bolt ladder

“Gooseneck” — eremuig) renfludlen 6Tbs enOLIL?
(A)  geafluler enowlingd)

B) ‘L’ Gumenm sieniotiuren granfluflen erpmliu@d
(©) ‘U CGurenm 2ienoliyy 1

(D) gl Apliyeuiens CurdL.
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15. Pantograph — railway term means?
w Apparatus for collecting current from OLE
(B) Apparatus for speed measuring graph
(C) Apparatus for signal unit of track

(D) A_ppai'atus for carrying line traction current

rulleoCou genmudled éukgé;a‘;']@ai'rarr “Pantograph” — eremm Glaravedlen GlLimmar?
(A) L&G&r(}’emwﬁl_l_g,mg OLE-u96fmpg @umib ienwoliL] |
(B) IGQJ&E‘@;{:QGDGET serefl(Hib euenruL @wibST Sienwoliy

(C) wyrafléd s@wessLLLHeTer SEeT el

D) . @upeeu enCanm L Fens @ILSEHEUSDETET 2 LIGTRTLD

16. Rolonoff — unit types?
(A) Consisting of a basic frame — onto which a variety of non removable units
M Consisting of a basic frame — onto which a variety of removable units
(C) Consisting of a basic frame

(D) A rungofladder sets

Rolonoff — yafll. euemsser eranuig)

Q)  SliueL sl &5l 6 B&E (1P Ts SenioliL]
B)  @gliumL sl ssgiL e bésssml L Sl
(C) (P(PELOWITET Diiq.LILIenL FL L &LD

D) gafluler rrl el sear

7 "~ 030/DD/19
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17. Escape ladder - means
(A) A ladder mounted on vehicles
W A ladder mounted on wheels
(C) A ladder fitted one more additional loops
(D) A ladder fitted with booming units

Escape ladder - eremugen Quim(mer

(A) earfyLer Qur@ssLuL (Herer eranfl ienoUL
B) sdsrHEILe QUIHESLILL(HETeT.erant el
©) qaﬁuL@r Fa.(NBeD eramtl enLoLiL]

D) Qumre geaniluLear QUTEHSSILILHETET BHOE

18. The helicopter over water are often fitted with floating equipment is

(A) Chinook ' w Sponsons
(C) Pylon ' ' (D) Rudder

QapallasriLfle sarafi Cuod LPsED Baauld mbasiulBerer Wisme Sieolile

@uuwir
A4) SHeans (B) evumrensanen
| (C) euemen D) el

19. Bunker — the term means in ships
W A compartment in which fuel is stored area at ships
(B) A compartment in which pumping station area at ships
(C) A compartment in which primary engine area at ships
(D) A compartment in which sterile zone at ships

slLedlen aupsdlgyerer Bunker — eramm Qemreveilan Qumper
(A)  suuede erfQummer Callgg eeussiLL UGS
B)  s0use B QauafCuppib LGS

C)  slud o der s Hlenew @endler LGS

D)  suucia 2 atar Hi GzaflsEb werLa LGS

030/DD/19 8
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20. Bilge fire — means

M There are very smoky due to the presence of o1l residue inside the ships
(B) The entire ship fire

(C) There are non-flame of fire due to the presence of oil residue inside the ships
(D) The bottom of ship fire '

Bilge fire = GTRILIg

Q)  sludseid ulea sfisllarme yamasepl L sgiL e erflussmigw §
B) slud Wueugib gHuLSsigw §

(C) suudsailad Yuld slefearme Lamsudaeroed erflugamigw &
(D) suuslen @iqLLES D HUL G §

21. “Geiger Counter” — an instrument for using?
(A) Detection of Earth Quake
w Detection of Tonizing radiation
(C) Detection of collapsed building stability
(D)  Detection of heat rays

“Geiger Counter” — &t erenm shedl ersnE LweTLRHSng ?
(A) floop(Hsssans sanr_Hliw
B) sdfwusssms searr
€)  siyL @Quur@sefen Hlaoliugseammn samLlu

D)  Qeuliug s eSsamsamen semLHlw

22. Brando sky lift which to reach of distance?
' (A)  30.5 meter
(B) 30 meter

M 52 meter

100 ft

L@U’WGEWG.I_H' evenseilLIL eranfl ereusuarey 2 wWrD euany Glaaib?
(A)  30.5 80

B) 30 S
(C) 52 8rLr

D) 100 g

9 030/DD/19
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923. CLASS M.P. Fire — types explosives consist of?
(A) Phosphorus filling are involved
(B) Cloud of lethal gas are involved
y Burning metallic powder’s are involved
(D) Radio activity exposal

CLASS M.P. § eluigg) erdléd grhuL_ésniqwis)
A)  umevugen Hlriyblene 2 L erren

(B) &sed aumyy galL b o L amen

(C) o Cars gsasaie erilsa Hleane

D) sHwss Qauelliur® Hleveulemar

24.  Which of the common method is used to fire brigades receive emergency calls?
(A) Telephone exchange (B) Police
(C) Wireless system w All of these

SiausT SiemplLsmar UGS 6 LiweIHS50USDE CLTSIeITEN (PDITED?
(A) GsreneCudl uflbrHod (B) Gumradev
©) eur@enmed am@tﬁu&;sﬁ D) Emeu imasgD

25.  Which one of the following is not a basic control room procedure?
(A) Ascertain and record the address of fire and other incident
(B) Alert the stations involved and pass turnout instructions
(C) Note and record the time at which the call was received
w De mobilize further resources

Getreu(meueeuDBled 6T q(h Sl SLOUUTL(H SienD BEpL (D DD
&) & euss wpmb Gp sbums 2 nHILESseD ufle) Asued
B) feoowksdald Qsriiy wpmib céefsms aflpampsmer sLbJI

©) @EduyQupiul L Cersmsls ufley Galg ufle Gealiwed

D) uweL Syl Hib venfl GeruHmeLd

030/DD/19 10



26.  The number of cycles of wavelength is called

(A) Sequence | (B) Emergency
w Freﬁuency (D) None of these
sieafersdlen spnslsafien eramantsans
Q) emauflesurs (B) am&uﬁmm
C)  ofliQeuar D) Qeundld egLbleens

27.  Velocity is equal to
w Frequency x Wavelength

Frequency / wavelength
(C) Wavelength / Frequency
(D) 2 Frequency x 2 wavelength

Sipseim_cupBled erg) CeussElne swreans)
(A)  ofrQeua X eaBerid
B) odiCeusir / semeberid
(C) emepard [ 28 TGleuemr

D) 2 Qe x 2 Siferd

28. Which of the following equipment must be provided in the control room and fire
stations?

w Telephones

(B) Video game device

(C) Dressing table

(D) Refrigerators

sLEUUTC( =A@p LHHID § foowudseld Geaeumbd o LsTaTRSND TH QUPRISILIL
Couan(ho?

4) QgrapaGuélser

B) SqCwr Csib srsad

(C) wrevedid GLiar

D) @elirersear Quigsdr

11 030/DD/19
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29.  Which of the following in not a frequency band?

A)
®)

Very high frequency
Ultra high frequency
Medium frequency

M Infra frequency

Kemeumalsiau il e(h 1T ouemT QenasE(Lh Hwe

(A)
(B)
©)
)

e 2ifle 2 Tbleuar
ST 2 Wi DiSlirbleuemr
BOSsT Al TEleuem
25&8eliL a@ﬁ@mﬁﬁr

30. Loss of pressure due to

(A)
(B)

D)

Static pressure
Pressure at hydrant with water flow

The difference between the static pressure and the pressure at a hydrants
with water flow

All of these

Brpss @il erganme apUBSng)

(A)
®)
©

D)

Blenemen Si(PSSLD (PeLOTS

B 5809 mbe seamatt GeuallCumib Curg gHUBLL (WSS STETLONS
flenoowmren  pssD oo Brenlddimpg  CleuafiGuimib  seratfer
2(WP&5FHnaTan GCoumum(

SimansgGw

31. What is the nozzle discharge in time per minute using a 25 mm nozzle with a nozzle
pressure of 7 bars?

w 1100 LPM (B) 1800 LPM

(€)

530 LPM (D) 450 LPM

a® AU E80 QaaiCupb seraffidn Siara cdaara)? Sigar Fréld ol L 25 mm
<issd T bar eidag préld qevanien ereueurm seamadl_LUBEDS?

(€Y
(©)

030/DD/19
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32. What is nominal pressure (bar) for water circuit relays?

(A) 5bar (B) 8bar

W 7 bar (D) 2 bar

seient it &HN GsTLT UL SENHE Qurgeurer si(pssLd eréiacTe,?
(A) 5 bar (B) 8bar

(C) 17bar ) (D) 2 bar

33. Melting point of Bronze is

(A) 500°C B) 700°C

7 1000°C | D) 1500°C

Qeuatrsegdler 2 (@ bHlana?
A) 500°C (B) “700°C
()  1000°C | (D) " 1500°C

34. Melting point of aluminium is

4) 500°C - (B) 5500°C
(C) 600°C P 650°C
S@iflaiugdler 2 mblana
(A)  500°C | (B) 5500°C
©) 600°C - D) 650°C
13 030/DD/19
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35.  Which of the construction has been classified in Type I?

(A) Construction is one in which all structural components have one hour fire
resistance

(B) Construction is one in which all structural components have two hour fire
resistance

(C) Construction is one in which all structural components have three hour fire
resistance '

w Construction is one in which all structural components have four hour fire
resistance '
Type-1 s gL b [ saayl réesen eren aues ILBHGSUUG IS
(A) 1wl Curbd § sriiEb Sner ClsTa &Lyl 1
B) 2 wafl Corb & srRiED Sner Geram gL 1D |
(C) 3 wenfl Curb & sTEIGD Fpen Carem . sLigL 1D
(D) 4 waf Corb § grvigb Fnen Cleram . &L igL 1D

36. Petroleum products like class (A), class (B) and class (C) as a whole are classified

based on :
(A) Fire point WFlash point
(C) Vapour point (D) None of the above

Qur CrreSlw QumsL_serran class (A), class (B) and class (C) Qaven SiETSFHID ETHET
< liuenL e auaslu@SsULHS DS

(A) & yeref B) Suupm Hewe
(C) Bomeil Leraf] (D) @& ergiaydlavena

37. Whatis L.P.G?
(A) Liquid petroleum gas

w Liquefied petroleum gas

(C) Liquid paraffin gas
(D) Liquefied paraffin gas

L.P.G. crenpme eresmen?

4) Sreu QuiCrredw eumu]

(B) Hiowrésiiun L Qui Crrellw eury

(C) Qauardlreu Qo(p eum

D) Brwwrsstiul L Qeueamslrey o eum

030/DD/19 14



38. Melting point of lead is
(A) 227°C

P 327°C

srilugdler 2 mEHama
(A): 227°C
(C) ~327°0

39.  Which one is a good heat insulator?

(A) Timber

(C) Glass

Qeuliud SLG&TE QlumrmeT 6Ta)?
(A) b

C) semeawrmg

40. Sand lime is
(A) Calcium Carbonate

(B) Calcium Choloride

w Calcium silicate

(D) Magnesium Silicate

Ceawr_ eneuib eTaLIG)

Y Eraliib et
B) sroflub @Garrar®
(C) srodub HsCsL
(D) wsaf&lwbd HalsCs_

B) 317°C
(D) 417°C

B) 3817°C
(D) 417°C

M Stone

15

(D). Metals

B) s@
D) QoY

030/DD/19
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41. Which material is during the combustion give toxic flame?

(A) Steel : (B) Metal

(C) Timber 7 Plastic

erflyb Guirg) pés aurienau GeualluLh Sgloug) eTg1?
(A) e (B) Quoire

(C) wrésieaLser . : (D) Gerrevigs

42.  Fire doors provided for the following purposes

W Smoke control (B) Easy. evacuation -

(C) Flame control . (D) Fire fighting

Sa;g,’sqassﬁ (Fire doors)-emm LiwerLim(p)
(A) yos s HUUESSIS® (B) erafigle CeualiGuip

C) Ss BHuubsssD (D) gammgg,é}

43. Which metal has high expansion rate?

(A) Steel (B) Copper

' W Aluminium (D) Zinc

28 Benpbgananto 2 e 2 Carsid erg)?
(A)  evied B) smiur

(C)  <@ublaflub (D) ss5HTSD

030/DD/19 16




44.

45.

46.

Minimum passenger capacity of fire lift is

A 5 WS

©) 10 D) 9

pwir Al (fire 1ift)-éd gevppsulsb erggemen Cuir Qedeemb?
GV B) 8
(C© 10 D) 9.

In high rise building refuge area has been provided at

(A) 22 mts (B) 23 mts

ge(' 24 mts (D) 25 mts

2 wifomyg &g L risafleo Refuge area wenwési@in 2 wiyb?

A) 228 | (B) 238
(C) 248 (D) 258

Which metal should be provided in lightning arrester earth cable?

(A)  Aluminium

(B) Iron

M Copper

(D) Steel

Qugridlude Earth cable -@ps weru®ib 2 Carsib erg)?
@A)  sgdafud |

B) @@y
(C)  sriur
(D)  eviee

17 . 030/DD/19
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47. Fire Zone No.1 shall be designated as follows
M Group — A, Group — B, Group — C, Group — D, Group — E1, Group — F
(B) Group — E2 to E5, Group — G1, G2
(C) Group — G3, Group — H, Group —J
(D) None of these above :

Fire Zone No.1 -¢) 2 _drer &L 1L cUensS6T

(A) Group — A, Group — B, Group — C, Group — D, Group — E1, Group — F
(B)- Group — E2 to E5, Group — G1, G2

(C) Group — G3, Group — H, Group —J

D) @eunled ergifldvana

48. Fire Zone No.2 shall be designated as follows.
H? Group — E2 to E5, Group — G1,G2
(B) Group — A, Group — B, Group — C, Group — D, Group E1l, Group F
(C) Group — G3, Group — H, Group —J
(D) None of these above

Fire Zone No.2 - 2 _érer 1i1q L GUGHSHET

(A) Group — E2 to E5, Group — G1,G2 _

(B) Group — A, Group — B, Group — C, Group — D, Group — E1, Group — F
(C) Group — G3, Group — H, Group —J

D) @eundlé ergiLslvenev

49. Fire Zone No.3 shall be designated as follows.
W Group — G3, Group — H, Group —J
(B) Group — E2 to E5, Group — G1,G2
(C) Group — A, Group — B, Group — C, Group — D, Group — E1, Group-—' F
(D) None of these above '

Fire Zone No.3 -6 2 et S 1qL cuamaseT

(A)  Group — G3, Group — H, Group —J

(B) Group — E2 to E5, Group — G1,G2

(C) Group'— A, Group — B, Group — C, Group — D, Group — E1, Group — F
D) Gapdo gidome
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50.

51.

FAR abbreviations
(A) Fire accident report

(B) Fire area ratio

M Floor area ratio

(D) Floor area report

FAR crenuglen eflflourgsio
(A) Fire accident report
(B) Fire area ratio

(C) . Floor area ratio

(D) Floor area report

Floor area ratio (FAR) is

FAR = Total covered area of all floors

w Plot area

FAR = Total covered area of Ground floor
Plot area

B)

FAR = Total covered area of all floors
Constructed area

(©)

D) FAR = Total covered area bf Ground floor

Constructed area

FAR erémugen afllgid

FAR = Total covered area of all floors
Plot area

FAR = Total covered area of Ground floor

B)

Plot area

FAR = Total covered area of all floors
(€) Constructed area

FAR = Total covered area of Ground floor
Constructed area

D)

19
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52. How many types of electric lightings in use?
(A) Two types (B) Three types
M Four types (D) Five types

THB@ET QUSWITET L6 aTEES6T LIWGTLITL 960 2 GTemen?
&)  @ram( B) wem
©) preng ' D) @bsl

53. Which one of the following is most generally used form of electric lighting?
(A)  Onelamp
Incandescent lamps
(C) Vapour lamps
(D) =~ Luminous discharge tubes

Wensrrsdlen eafluden augeusdla erg Qurgieurs LweTLBHSsULEEDgI?
(A) @ ofleré '

(B) qaflmb eflerg@ser

(C) fBymell efleré@sar

D) geflgpb QauafiCupn GLmiser

54. The amount of current which will flow through a circuit depends upon the voltage -
and resistance is described by?

w Ohms law

(B) 'Kirchhoff voltagé Law (KVL)
(C) Coulomb law
(D) None of the above

Spsrapd  fflsafld, Werurldsdlar oiere Weranpssd LHMD Wer erdlruder
SlgliuenLule o drengrs @MU iu®ib eSlél arg)?

(A)  @ubev aild

B) dreCer.l @oCLg (KVL) oflf

(C) Qsreonbliedd

D) @b agaib Giama
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56.

57.

Which one of the following not happens in case of a short circuits?
(A)  Current flow deviated from normal part to quicker return path
(B) Break down of insulations

(C) Lead to an outbreak of fire

w Steady flow of current between conductors

Wlet GmisE umiésallen Curg Geneusafled erg) men QLDTLOESMHEED?
(A)  Blemeryd Quieuirar L 586l mbs) Wen SHamliub grhu@ib
(B)  sriurenser (insulations) Gswe @uehsed@Hiwb

©)  §eflugg apu@d |

D)  s_sdaenéE Qe Cu Errean WBarerynd Uruh

Which one of the following should not be used when working in smoke or darkness?
(A) Hand lamps (B) Box lamps
(C)  Flood lights JPNaked lights

Ljana pmibd @mefled Lianflfluyd Qurps) 2 LCWIrHssssm Tgg) 6Tg)?
(A) s elarsgsdr (B) Quig eferd@adr
(C)  Qeuerer efard@ser e D)  Blyrys eSeré@ser

Which branch nozzle can not to be more easily handled?

(A) Nozzle size % inch | (B) Nozzle size % inch
(C)  Nozzle size % inch " Nozzle size 1% inch

SQULDTE &SWITET(LPIG LTS BTG 6Tg)?
A) % Qend préled ; ' B) % @eés priled
©) % @i 5rdld D) 11 Gené prélés

21 ' ' 030/DD/19
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58 The amount of water which a line of hose will past depends upon
(A) The pressure at the pump
(B) The diameter and type of hose

() Length of hose line and size of nozzle in use

w All the above

Bir el Domufed Bir raam sig i uie sLbs) Qe dlng?
(4) ubdler (pEHD

(B) pirel(H@pruder 6fl L b LHYID SiH6 eLmS

(C) Hre@@pruler Serb HMID LWETLI(HSSHID BHréled
(D) @Eme S@ETSFID

59. By which ways fire can spread?
(A) Convection (B) Conduction
(C) Radiation and direct burning  «a@79 All the above

6T euflsatler § ureuarélmg:?
(A) QeuluFeerd 4 B) sLsse

(C) sdiaiFs wpmib Cpierflsed (D) Qeeu mensg)d

60. Quantity of hose required for tackling rural fires

A) 1000 ft ~#722000 ft
(C) 3000 ft (D) None of the above

LoBsT § euggismer amawrer Comauliu@B b BirellH@rrisaten Siera)
(A) 1000 =g (B) 2000 =g
(C) 3000 =g (D) @se ergieyd Qléena
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61. Rubber gloves issued are tested only

w 15,000 v : (B) 10,000 v

12,000 v (D) 11,000 v

ruul ensujennser uflGardlésliu@in ojere|
(A) 15,000 Ceurevr_ (B) 10,000 Gaeumredor
(C) 12,000 Ceumeor_ (D) 11,000 Geumévl—

62. The Celluloid materials decomposing process known as

‘ﬂ Exothermic process

(B) Endothermic process
(C) Decrease in temperature
(D) None of these

Gedgieomi® fagaumLub Hshe elleman eremg
(A)  GQeuliu 2 Blipeflener

B) Qeuliu 2 ereflenen

(O) GauiuBlee Gmnged

D) Qe ggb Gdama

63.  The following radioactive particles is most penetrating power of radiation in human

body
(A) Alpha particles
(B) Beta particles

m Gamma rays

(D) None of these

" Spasan sdi Sis misdsalld walls 2 1dld s oiere sar@med Qe Liee?
A)  eur gsarser '
B) Siirgsdrser
(C)  smror s
(D) @eweu agrgb @ dama
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64. The radioactive materials as possible as in the fire fighting — below the statement as
good as safe.

(1) It is always preferable to use spray nozzle

(i) Cooling down operation

(iii) Immediate Salvage operation should be undertake

(iv) Avoid the undue disturbance of debris

(A) (@) and (u) are correct w (1), (11) and (iv) are correct
(C)  (i11) is only correct (D) all of these correct

s8flwss QUL se B Sumanssd sowksaile — Shea. sapmisaiie argl silureng)?
@) . Qsefliy gpenen prélosmer LweTU(bhS5S60

1) @Eoltelgssd Qeudsmer Clslizn

(i) oL eng sraCeum Gauige

(iv) Eesadp sflaismer SULDULIGSS®® S6ilTE560

A) () wpmb (11) -1b & B) (1), (11) whHmb (V) g SHwueaen &l

(C) (1) w (b &f : D) <wearsgwafl

65. Universally “HAZCHEM?” — code is consists of a number from |

O 1to4 @) 1tob

(C) 1to7 (D) 1to3

o eseredldy “HAZCHEM” — code o _erer_&dl erawrsaT

A 1so 4 B) 1wsod
C) 1qpse 7 . (D) 1 s 3
66. “Ideal fuel” — has ———— calorific value.
(A) Low calorific value w High calorific value
(C) Neutral (D) None of these
fHlena erilGummafies ——— sGamifl .
A)  E@Hs &Carhl el B) 2 wips &Gl emei
C) mpEHdawreg (D) @Gemeu grgdldvene
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67.

68.

69.

Cobalt — 60 Gamma rays is widely used in radiation process. Below the following
statement/s is / are correct
L. Inhibition of sprouting seeds _
II.  Microbial decontamination in Potato, Onion
III. Delay in ripening of Banana, Mango
IV. Sterilization of medical disposables
(A) I1iscorrect (B) TIand II are correct
(C) IV —1s only correct | ﬂ all of these correct
Garurer -60 smor séli aiFs sryamhismear sflsors LwaLRSSLILGEADS. Spdser
srrarisatie erg sflumeang :
L. cllengser (paneTliLmS H(H&HEWD
II. 2 (mener dlpnig, Qeursrun g dwucunan maranuilr FriewwTsEsDd ClFdiu
III.  aureny, wrbUPD < Hwemes elerbg LWULDS SH &S
IV.  wmsgie sflayuCurmsatlen mewr 2 udlT DisHDmed
(A) Tl @bef B) LI w @bsefd
©€) IV-wl@oasef (D) Swaggb il
What is ATC?
w Air Traffic control (B) Air Transport control
(C)  Aircraft transport categories (D) Avwiation transport centre
ATC eranpmed eremen?
(A)  eflwrer CursGeursg s G (B) eflwrer Curd@eurss) LOWID
(C)  eflwme Gurré;@sﬁa;rggj Gfleyser D) elanbeuafl CursEeaursg amwwb
Combustible “dust particles”— below the diameter is basically mentioned as “dust”

(A) 3mm w®? 0.3 mm

(C)  3u (D) 3 ymm

SLLNmEsniq W giE gisarseT Spaserl gL eill L eTeyseaflenuig GHMUALDuBeug?
A) 31 (B) 0.3W5
©) 3u D) 3 gmm
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70. In mechanical refrigeration the refrigerant is “Freon” as
w Non toxic and non flammable (B) Non toxic and flammable
(C) Toxic and non flammable. (D) Toxic and flammable

Qupdlr @eflmLd wapuid galluugelurs LweauBssuL@DL “Freon” erdaug
(A)  fesssamewwupps. Suubnrss  (B)  deygsarenownpg), eriludsmigusg)
C) Negssenevuje g, Suuppreg (D) 60le35SEMENOIL|ENL_IIF], TifILISH 5 o 1)

71.  The radioactive materials is unit measured by
Curie (B) RAD _
(C) Roentgen (D)_ Gamma particles

GriGur séliefés saflvriser Spaar siaresafld arell LG Ens) §
@A) . Aw B) iraiy
(C) grem e (D) smor sdliser

72. Disaster Management Act 2005 came in force from
(A) 2005 (B) 2006

(€) 2004 2 2007

CulLr Guaramento b 2005 erhg e perLpepilBSsILLL )
(A) 2005 (B) 2006
(C) 2004 : (D) 2007

73.  Which one of the following is not a industrial accidents
(A) Nuclear reactors accidents : (B) Thermal power stations accidents
w Road accidents . (D) Chemical plant leakages

Gemeumeusneupiiley 6T QasmflDFrene eflLiGg ieva
(A) gy 2 oe fuss) : (B) jaed Wleir Fleneows eflLigs)
(C) srova efluggy : (D) @rerwuer e eSluSE
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4.

75.

76.

77.

Which one of the following is not effect of earthquake?

(A)
(©)

Land slides WCyclone

Tsunami ' (D) Tremors

EpaanL gen argl Hlaphsssda Curg elamera) @onrss)?

)
©)

Lefl 2Q&@ FpHé (B)  @preuef
< PILCUTene D) =dliey

Which decade is declared as international decade for natural disaster reduction?

(A)

1970's (B) 1980

w 1990’s (D) 2000's

Quipers Gurfley GanUL S@TL_T& eThs () SiflelssiulLg)

(A)  1970-safled (B) 1980-gafled

(C) 1990-safled D) 2000-gafle

What is GIS?

(A) Geographical information system M Geographical intimation system
(C) Geological information system (D) Geographical initiative system
GIS erempréy eremen?

A)  yelilullwe sseued pevm B) yeilGwe edlediiy wenp

(C)  wewranflwcd HH6UD anLOLIL D)  yeuQuwied < ribL Sl penp
Which one of the following is not a casual phenomena Tsunami?

(A) Fault movement on sea floor

(B) A landslides occurring under water

(C)  Volcanic activity either underwater as near the shore

m Cyclone’s in the sea surface

SleneumeuameupmieT ergl <, flLIGLTa flsredlen Curs GsrLibamrss

(A)
(B)
(©)
@)

&L6) L g8l grhupID THISOTE FSTa,
serentilen <iig LUFLGe Blewdsfey wrppo
SL&T g IuGE HmID sLHsmy DiHEHD 2 arer erfweneulicr FHmid

&L uriner Goarer @morearfl
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78.  Which is the major impact of disaster?
(A) Political destabilization

w. Loss of resources

(C) Change in climatical conditions

(D) = Emergency of new leader

CuflLfen wpsflw résb ereven?

(A)  <rflwd eurgseenoudieneio

(B) euermsafien @Lpli|

(C) umeublene WIHMEIGET

D) Qpmssy Hevaudern LW seaneeur

79. Who is chairperson of National Disaster Management Authority?

(A)  President &7V Prime Minister
(C) Finance Minister (D) Governor

GColw CuflLir Guarementn ,enarTSSen Snaveu wWirr?
A)  GYwrs seuT (B) dYrgwor
©) P semwesi D) <@

80. National plan for disaster management reviewed and updated

M Annually (B) Every Quarter
(C) 6 months once (D) Based on the need

CGufli Guarameno Caflw S L1 om 2piia) LHDID LgILKGSE0 T SieTe|?
&) el Commid B) gdaGe rr@ sreore(p)
(C)_ B0 OTEEEDE R (P D) GCsmeausCanL .
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST IN THE MANUAL OF FIREMANSHIP FOR
OFFICERS OF TAMIL NADU FIRE AND RESCUE SERVICES -
SECOND PAPER

(Without Books)

- Maximum Time : 30 minutes , Maximum Marks : 20

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eflfleurar elenL_wiaf&@ELD euens ellanmggmer

Read the following instructions carefully before beginning to answer the questions.
eflarn&siend@ ellentwedlds QBmLrh@b (e SPEE@TL HHleyenFEameT SEUGTLONS Lilg&&ajLb.

1 Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued. '

ellenL_samer @M G [Herer eramant]EamasE HGLTE m@@uﬁ@u&lm allent_ggrafier @mdluier o erar
2ifls eramrenilaenasuliaren allenLsear HUIGH Qawwiiirg).
2. In case of doubt, English version-is the final.

eflemrssafle #F5Cs50mUIGG g mifle ageller Qur@EsiulBerer ellammasGer @mflwirang,.

Answer any FOUR questions.
eranauGuignitb et eflenTésEnéE Wi [Hb eflanL_wiafléEsa|ib. (4 x 5=20)

i 2 Explain the types of delivery hoses.
Bire® @omiisafler ueasmar efleu.

2. Describe briefly about storage and compatibility of foam concentrate.
HeoT swenal Cafiibler o5 whmib Genanru b senenio LHM eNfleurs er(psis.
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3. Write about categorization of airports for firefighting and rescue puri)oses. What are
the airport firefighting facilities required?

Slefld aflorar flanawmsamer § eeariy wHmd Syl uenllsaflan Sigliuauld aeiaurgy
euanasL(BSseus). GonLiy eflore g,ei-rréja;erﬂd) Qe Ceuarig it SULTSISTUIL Bl SENSEET

GTGOTG0T ?

4. What are all the actions required in case of a railway incident? How will you fight
fires in railway tunnels?

e @rie eugdlen Gursy CupGsrarer Ceusmngw pLeiqsmssdar eraran? @rudd
srasuurasseie § aflusg ehiul L eeieurn § seenriiumi? -

B Write about the 'general déscription centrifugal pumps with neat diagrzims. What are
all the types of primers?

Qe ML uasd LbL-goer LDH uMTULSGIL 6T ESDTS (PSS, TESDE CUDS
Yenyioiser o_areng)?

6. Write about the genefal exit requirements of multi-storied buildings as per the
provisions of National Building code of India. Part IV fire and life safety — 2016.

uewry &gl msafld Gurgeurs QeuallCupb auflsear Gilgs Coflu sl &bl QsrELiL .
ued-4, § wpgd 29T LTgEiy — 2016-0 Asfelzgiarer aufpapsdr EGhss offlaurs
CTRSIS- '
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